MAxa %cms Mnxm E x 4
L M6 x 35 mm) L @6x30mm) | @4x50mmj | M4 x 18 mm)
%FXZ % Hx1
A
> Kkxs © # mxs
@ Px8 MRX4 ﬂ Sx1
) L @4 x40mmj )




Step 1

Lock the screw A to the part 2 and 3. The installation
position is as shown in the figure below.

=

M6 x 35 mm

Step 2

Assemble parts 2, 3, 4, put the eccentric B into the
corresponding hole and use a flat-blade screwdriver
to turn it clockwise to tighten, the installation
position is as shown below.




Step 3

Insert part 7 along the slot, the position is as shown below.

Step 4

First lock the screw A to the part 1, and then use hammer to
lock the Plastic K to the part 1. The installation position is
as shown in the figure below.

(7

M6 x 35 mm

o




Step 5

Insert pin c first into parts 1 and 6, then assemble parts 2, 3 and 1, put eccentric b in Corresponding holes,
use a flat-blade screwdriver to turn clockwise to tighten. Finally, assemble parts 2, 3 and 6 and use screw
R to lock. The installation position is as shown in the figure below.

[ 2 o [ ol

ff
(p15x 9.5 mm

Step 6

Assemble the parts 10, 11, 13 together first, put the hardware P in the corresponding hole position, use
the wrench S to lock the screw Q, and assemble the assembly with the part 12, also put the hardware P
first, and then use the screw Q locks. The installation position is as shown in the figure below.




Step 7

First insert the dowel C into the corresponding hole
of the part 6, and then use the screw D to lock
the assembly of parts 10, 11, 12, 13 and
part 6 together.The installation position
is as shown in the figure below.

(Pl [Fas

@4 x 50 mm

Step 8

First tear off the protective film of the foot pad G
and stick it on the cabinet foot, then tear off the
protective film of the hole sticker K and stick
it on the corresponding hole of the

cabinet foot. The installation position
is as shown in the figure below.




Step 9

First lock the hinge J with the screw I, then use the screw Screw E locks handle F. The | linstallation

location is shown in the figure below.

%sz M Ex4
L ) M4 x 20 mm
w Ix8

@4 x 12 mm|

Ix8
@4 x 12 mm

g

<

It may be necessary to adjust the hinges so that the
doors align. Use the instructions below as a guide.

a: To adjust the door vertically loosen the screw asshown
and move up and down as needed.

b: To adjust the gap from the door to the main frame turn
the screw clockwise or anti-clockwise as needed.

c: To adjust the door laterally adjust the screw as shown
by turning clockwise or anti-clockwise.

Please fix other screws.

8-10



Step 11

First install the layer support L, and then place
the component 5 in an inclined position.
The installation position is as shown in
the figure below.

(T

Step 12

Use the screws in component M to fasten the back
plate buckle. The installation position is as
shown in the figure below.

D s




Step 13

First fasten the T-shaped iron piece with the short screw in component N, then put the back of the cabinet
against the wall, drill holes on the wall where it is placed, and finally use the long screw and expansion
screw O in component N to fix the cabinet. The installation location is as shown in the figure below.

[&; Nxz} Qi‘7 0x2

10-10



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

